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Time : 3 hours Max. Marks: 150
Instructions for candidates :

1. This question paper is in two parts.

2. Part - I is related to Reasoning Test which
consists of 30 questions.

3. Part - II relates to Scholastic Aptitude Test
which consists of 120 questions relating to six

subjects listed below :

1) Mathematics : 30
i1)  Science : 30
ii1)  Social Studies : 30
iv)  Punjabi : 10
v)  English : 10
vi) Hindi : 10

4. Each question carries one mark. All questions
are compulsory.

5. You have been provided an answer sheet
(OMR) for this question booklet. Darken the
circle of correct option of each question in the
answer sheet (OMR) with black/blue ball pen.

6. Rough work may be done on the blank space
provided for this purpose.

7. Thereis nonegative marking in this test.

8. Donotuse white fluid on Answer Sheet (OMR) .
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Part - | (Reasoning Test)

fsgem (Yyms 1-3) 9 A o3t assT nigA™g
AH UH T ANSST § U9 9 |

1.

U gt cug:?
(1) uzr
(3) B

(2) HI
(4) gt

news :fesAre: 1 AgS @ ?
(1) wniftriux (2) fefenragt
(3) wiEaTfas®t (4) fAfor

fasar:set::32: 2
(1) T3 (2) 3Jar

(3) mHes (4) 9 (Fdedt I3

"UTATS' T eeevnnennn SHJI
(1) wnrfess (2) =g
(3) AwEIT (4) gu3r

fam ¥ a5 zET fe'g COMPUTER 3
'RFUVQNPC' faftmr Aier 3| @R as s fe g
'MEDICINE' 3 f&=* fafemir Ar=ar?

(1) EOJDJEFM (2 MFEJDJOE

(3) MFEDJJOE (4) EOJJDFEM

3t TR f& niAHs T Jar fxd fagr 9ar?
(1) &te (2) WAHTST
(3) ter (4) urst

ABE18= 3, C,BEtHi T I D,CE fu3™31 E,D
ST ISTTAAT D sB At fausTI?

(1) =t (2) ==

(3) u3at (4) ust

3

Directions (Questions 1-3) As given in left side analogy

complete analogy of right side.

1.

Paw:Cat::Hoof:?
(1) Horse 2) Lion
(3) Lamb (4) Elephant

Court: Justice: : School : ?

(1) Teacher (2) Student
(3) Ignorance (4) Education
Bank: River::Coast:?

(1) Flood (2) Waves

3) Sea (4) Beach

‘Joule’ is related to 'Energy’ in the same way as

'Pascal’isrelated to................ ?
(1) Volume 2) Pressure
(3) Density (4) Purity

In a certain code, COMPUTER is written as
RFUVQNPC. How is MEDICINE written in same
code?

(1) EOJDJEFM 2)
(3) MFEDJJOE (4)

MFEJDJOE
EOJJDFEM

If 'Air' is called 'Green', 'Green' is called 'Blue’,
'‘Blue’is called 'Sky', 'Sky' is called 'Yellow', 'Yellow'
is called 'Water' and 'Water' is called 'Pink’, then
whatis the colour of sky?

(1) Blue 2) Sky

3) Yellow (4) Water

Ais B's sister, C is B's mother, D is C's father, E is
D's mother, then howis Arelated to D?

(1) Grandmother  (2) Grandfather

(3) Daughter (4) Grand daughter
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10.

11.

12.

13.

fea a3 e AT S XE I UA w3 751
ABERAAURIIECTUHTURAMIATHAA
UR J1 B,D T A A UA I fxoz w3 fasas
fegaa 91
1) A
3 D

=
m

HIH, ST »i3 Sfonrt fegas AU TR
et g Y5 fosgdtg= 9|

09 ¥ @@‘

(1) (2) “4)

3 TR Az 3 ufos rae faogT 3<ar?
(1) Nature (2) Native
(3) Narrate (4) Nascent

wg< 'PERSONALITY' ® 3R, 38, UAs’, A3<"
"3 TAY MUY &% 1 A9 HEE g5¢' J
Srer ufas™ nrug TR |

(1) O @ T

3 R 4) S

Toustdl feaazg feg feaeausaza e
e fHfon YA Ag s 371 GRas9feo
f&s Tau3s 957

(1) 8 2 9

(3) 10 4 N

BT BEL feamut € ga<t 39T T |
(1) & (2) g9

(3) 3aug (4) FIS

(5) Juarg

(1) 12435 2) 24153

(3) 41,352 4) 53214

10.

1.

12.

There are five different houses Ato Ein arow. Ais
to the right of B and E is to the left of C and right of
A, B is to the right of D. Which of the houses is in
the middle.

(1 A (2) B

(3) D (4) E

Choose the Venn diagram which best illustrates
the relationship among Sun, Moon, Stars.

09 ¥ @@‘

(1) (2) 4)

Arrange the words in alphabetical order and
choose the one that comes first.
(1) Nature (2)
(3) Narrate (4)

Native
Nascent

Third, fourth, fifth, seventh and tenth letters of the
word 'PERSONALITY' form a meaningful word.
Whatis the first letter of that meaningful word

(1) 0 (2) T

(3) R (4) S

In a row of trees, one tree is fifth from either end of
the row. How many trees are there in the row?

(1 8 (2) 9

(3) 10 (4) 1

Arrange the given words in a meaningful sequence
and then choose the most appropriate sequence
from amongst the alternatives provided.

(1) College (2) Child

(3)  Salary (4)  School
(5) Employment

(1) 12435 (2) 24153
) 41352 (4) 5,3,2,1,4
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14.

15.

YT S SF Y IS |

a__bbc_aab_cca_ bbcc

(1)  bacb (2) acba

(3) abba (4) caba

BDF, CFl, DHL, BT NEIST UT ot JI?
(1) CIM (2) EIM

(3) EJO 4) EMI

fsgem (yAs 16-17) :

16.

17.

fesgBe AASuU 3T AE® I8 o3I D
T fesgcawnd | fe3de 839 fasa (1)
U S Cfg3IssAaDIThmra
A |

A A fosa
||t 2
@“—:,—ffg%—q-ﬂ C D

iER

(1) (2) (3) (4)

wgﬁé k3
EIEEE

(1) (2)

14. Complete the letter series
a__bbc__aab__cca__bbcc
(1) bach (2) acba
(3) abba (4) caba

15. What will be the nexttermin

BDF, CFI, DHL,
(1) CIM ) EIM
) EJO (4) EMI

Directions (Questions 16-17):
Figure D holds same relation with figure C just as
figure B holds relation with figure A. Search D out
of given answer figures from (1) to (4).

Problem Figure

o b v 118 |

A B C D
Answer Figures

| [ E e

(1) (2) (3) (4)

Problem Figure

» 1O|®||<] 2|

A B C D
Answer Figures

BRG]

(1) (2) (3) (4)

5
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18. It fe3 fozgfee f&s sgaras?

19. ot fo3 fio'sg fe's fagwt A et =3

/ \

(1) 16 (2) 18

20. foHsfstus mae v vaus ySifsg g2:

AMBULANCE
(1) 3IoNAJUEMA (2) 3ICNAJUBMA
(3) 3ONAIUBMY (4) None

21. f8°39 (x) &=t ATt Taus ySifsg g3

(M 2 3 @

22. fg39 (x) AOHE fe3 IJF T9 feamut
(1),(2),3) 77 (4) fe5 fan fea feg fae
JuT I 1At fexmu g |

() O0@w

(1) (2 (&)

18.

19.

20.

21.

22,

How many squares are there in the following
figure?

(1) 17 2 25

Count the number of triangles in the figure given
below.

Find the mirrorimage of following word:

AMBULANCE
(1) 3oNAJUaMA (2) 3ICNAJUBMA
(3) 3IONAIUBMY (4) None

Choose the correct mirrorimage for figure (x)

(1) 2 3 4)

Figure (x) is embedded in one of the four
alternatives (1), (2), (3) or (4) find that correct

alternative.
1] [CO@E
(x) (1) (2 (3) @
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23. f&3x I feasut (1),(2),(3) A7 (4) &5
o< fex feasy s fo'3 98 nige U
(x)?jgl?’&%l

r

2N NN N K

() (1) (2 3 @

24, f&x uR it 979 AfEShr oSt argtrt
TS| N 3 T feudts fXa3T i nirar |

TEL

(1) 2
@) 4 (4) 6

25. f&x uA @it 35 Afadher fa St arghert
TS| N 4 T feudts faazT niad ni=ar |

96 6

(1 (2) 2
@ 5 (4) 6

26. fe3 feamy feo €oat fSs feasut ® Aya &t
9= a9, fAgt g »mur fe's 77 & fe'w yar

TITYUS TSI
> v <D
(L} 2 {3 W (5)
(1) 145 2) 245
3 123 (4) 234

23.  Complete the missing portion of the given pattern
(x) by selecting from the given alternatives (1), (2),
(3)or(4).

-

2N NN N K

() (1) &) 3 @

24.  Four positions of a dice are shown below. Which

9

25, Three positions of a dice are shown below. which
numbers lies opposite to 4.

—
N
~
—
N

26. From the given alternatives select the group of
three alternatives which when fitted into each
other would form a complete square.

> eI

L @
(1) 145 2) 245
(3 123 (4) 234
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fsgem (YAs 27-28)

YRS 3. 27 mi3 28 fe'9 9w Has <t yfgoer §
TIA QT 393ty § feur@Tmr 35 sAEST Xvz,
fa* St 95| faos’ feg fe3gzearmB8er I fafoss
g 3" S fenr fomrr 31 o9 €39 fosst 5" 6R
fosg g ge A fos9z 3 tme QuIs g3ar|

19

07 *) v @
’ 0 1 [B_ O
c Qg«:} =] oD
£ & o |- | 8o
o & o g
) @ @) @)
28. ) @
oo © GG]I GO %
o P o %y &°
) ) @)

29. mMafeI e mEe T As y3fHa®9:
QUARREL
(2) OUAAAIT
(4) onvyyar

(1) onvBEEr
(3) OUVBKET

30. f&3 32 feamsut (1), (2), (3), (4) &3 fo'39

) TAsYSHET 59|
(x)

8D o @D
o S

Directions (Questions 27-28)

Question No. 27 and 28 consists of set of three figure x, y, z
showing a sequence of folding of a piece of paper. Figure z
shows the manner in which the folded paper has been cut.
From the given four answer figures choose a figure which
would most closely resemble the unfolded form of figure z.

27. .
O [ -
DD Qg«:} m] oo
] & o |- | 80
O &0 o O
() ) (©)] @
28. @
—
oo o o o % GD %
o° %o 0 o % o°
(1) 2 (©)) 4)
29. Find water image of following word:
QUARREL
(1) ONVBBEF (2) OUAAAIT
(3) OUVHKET (4) onvyyar
30. Find water image of picture (x) out of given

options (1), (2), (3), (4)

8
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31.

32.

33.

34.

35.

36.

37.

Part - Il (Scholastic Aptitude)

mHiges 27=2"=8fSgy T H® dar-
1) 0 2 14
(3) Yo (4) Ya

fex »=x 3% I <t I5|1 Ax9 €9
MU 9K TAS § 2 7 3 7 5 et e
3, 3t 8F I I =<t st 5Ul, 3T R

S U uie fadait ardinit a2
(1) 45 (2) 30
3) 12 (4) 24

AHIETS Ix2+ mx +n =0 T H&T 7 »igU™s 3:4

- s =
(1) 10n=49ml 2)  12m=49nl
3 m=onl (4)  4P=49ml

AT x+y =90" 3 x=2y 3T Cos’x+Sin'y " HS. .
1M 1 2 0
(3) 112 4 12

AT sin® = m/n 3 Vn"-m’=1, 37 tand TT U
I3 -

(1) n/m (2) m
(3) Vn'-m” (4) m’
2 n’

f3gw ABC fe 9 AB=AC »i3 ALSATBC €3 L
>3 B9 I| f337 DEF f"9 DE=DF »3 DM 3+
EF €3 M ’3 &9 J| A9 f337 AABC~ADEF

™3 (arAABC): (arADEF)= 9:25 I 3
(DM +AL) o

DWFAD T99 J=ar:

(D 6 (2) 4

3) 3 4 5

f&3 arg fg'39 f€ 9 AB, EF »i3 CD AHIST
et g5 | AX9 EG =5 AH, GC =10 AH, BF:
FC= 2:1 i3 DC= 18 AM J< 3 AB I989

RN

J<dr:

v 3 (4
(1) 18 AH 2) 27 AH
(3) 24 HAH 4) 30 AH

9

31.

32.

33.

34.

35.

36.

37.

The value of y in the equation 2/ =2"'=8 is:
M 0 2 14

(3) Y (4) %

A boy has some toffees. If he gave 2 or 3 or 5
toffees to each of his friend, then he is left with no
toffee. Then how many toffees at least he must
have?

(1) 45 (2) 30

@) 12 @ 2

The roots of the equation Ix>+ mx +n = 0 will be in
the ratio of 3:4f:
(1 10n°=49 ml (2)

3 m=9nl (4)

12 m?=49nl
41 =49mi

If x+y =90° and x=2y then Cos’x+Sin’y is equal to:
(1) 1 (2) 0
(3) 112 4) 112

If sin0 = m/n and Vn’m’ =1, then tanO will be
equal to...

(1) n/m (2) m
(3) n-m (4) m’
2 n’

In AABC, AB =AC and AL is perpendicular to BC
atL.In ADEF, DE = DF and DM is perpendicular to
EF at M. If AABC~ADEF and (arAABC): (arADEF)
(DM +AL)

=9:25, then is equal to:
(DM-AL)

(1) 6 () 4

©) 3 (4) 5

In the adjoining figure, AB, EF and CD are parallel
lines. Given EG =5 cm, GC =10 cm BF: FC= 2:1
and DC =18 cm, then AB is equal to:
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38.

39.

40.

4.

42.

f&*3 are o33 &g ABC & AHas fSa= 38.

J| BDEF fe'x T9a1 I | A3 AE=15 AH, M3

AC=35 A+ J, 37 BDEF T 8398 U3T T |
£ E
B D c
(1) 169 AH® (2) 144 AH
(3) 100 AH® (4) 225 AH’

fe3 fg39 €9 PQR, 7 AH niSafao™ =& 39.

fe'a g9 v Suel fom Jifgsa feo
feu® nigAe fere niwe fea »iegst
g9 fafonr famir 31 fer niegst a9 =
YIISH USTAS |

(1) 385-221\2 7 Mt

(2) 308-154+2 Mt
3) 154-772 7 Mt
(4) 462-3082 7T 5 R

fe3 fozg e feu® nigag fex =ga 40.

OABC, f&'x T°'x9 ¥ Sg'st 374 OPBQ ©
nieg gfsn Ifenm I A9 OA=15 AH 3=
It e ifX3 FaT T Y3TES UST I |
(1=3.14T93)

B
Q P
c A
5@
0
(1) 64.125 A2 (2) 128.25 A2
(3) 481.5 AH? (4) 1188 FH?

AT X, X Xsse.r.X, T VIAS M T MBI AT X, ©F M.

g €3 x' f&ftpr 72 37 5 niAz ot IR4it?
1) (Mx+x)n (2)  (Mx#x)n
3)  (M+X)n () Mex,

ffa wete nrrarg & utSt € 2 &9 216 42.

FBteg uS 31fer &t Swe, ferst Saet
= 1/3 fIA™ T w3 3=, fer<t Sgt ni3
SwrEt T »ize T fEx faoet e 1/2 fdAr T
BT UITII
(1) 203 . HT. )
3) 63 .M. (4)

17 34T
23.Ht.

10

In the adjoining figure ABC is a right-angled
triangle, BDEF is a square, f AE=15cm and AC=
35cm. What is the area of square BDEF?

A

(1 169 cm? (2)
3) 100 cm? (4)

144 cm?
225 cm?

In the given figure PQR is a quadrant whose
radius is 7cm. Another circle is inscribed in this
quadrant as shown in the figure. What is the area
of the inscribed circle?

(1) 385-221V2sqcm

(2) 308-154+2sqcm

3) 154-77~2sq cm

4) 462-308v2sqcm a R

In the figure, a square OABC is inscribed in a
quadrant OPBQ. If OA=15cm, find the area of the

shaded region. (use t=3.14)

(1 64.125cm? (2) 128.25cm?

3) 481.5¢cm? (4) 1188 cm?

If M is mean of x,,X,,X;,....... X, and we take x' in
place of x, then what will be the new mean?

(1 (nM-x ,+x")/n (2) (M-x,+x")/n

(3) (n-1)M+x")/n (4) M-x . +x'

A cuboidal water tank has 216 liters of water. Its
depth is 1/3rd of its length and breadth is 1/2 of
1/3rd of the difference of its length and depth.
Find the length of the tank .

(1) 20dm 2) 17dm

(3) 6dm (4) 2dm
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43.

44,

45.

46.

47.

48.

49.

50.

fe'z Saardt fAsss 30 Achites &t Goret
TB HE gorar Tfomr dfenr 3, "y =
BIAI AT 60° T i3 fABsT T fenrr 843
Ahies T1Hg T nrfesas &t 372

(1) 30007nm  (2)  4860mAH

(3) 3000 FH° 4  1500mFH°

16 x {18 foxmr 397 < Hifemor T 2
(1) niufano Afamr

(2) Ufano Aftorr

(3) TN Q)

(4) fegst f&g gt &at

fa9 'p* fe'x fArs Aues Aftmr T 37 )
fe=...... J1

(1) TR HYIE At

(2) A3 AYIS Aty

(3) 3T grEd

4) feogt 9 It &t

-2 M3 -5 fAaat TFhi st 8 w3t
gguet JTant?
(1)  Eradr 2 &

(3) g (4) 1 ES

Ha9 € WSt ggUT ax + bx + ¢, c20 ¥ I
g97g9 I5, 3T

(1) cn3ad B g Is

(2) cni3beBuefdgas

3) cn3aT feafdg T

(4) cm3pbTfeafdgd

fag far AP = ufgsT, A »i3 niudt ue

FHET a, b i3 2a T, 37 fER T AF ot I=ar?
(1) 1 (2) 0
(3)  2ab/(x+b) 4)  3ab/2(b-a)

fa3 arg gu=t v feast @ HoHs 3° feoss'
TTHAT ...... Jev I

(1) THAT fae=HA

(2) THHAT USTSHA

43.

44,

45,

46.

47.

48.

49,

50.

11

Arightcircular cylinder is covered with a cone, of
height 30 cm. The vertical angle of the cone is 60°
and the diameter of the cylinder is 8V/3 cm. what
is the volume of the cone?

(1M 3000/7 wem? (2)
3) 3000t cm? (4)

4860w cm?
1500t cm?®

Which type of the numberis 316 x 418 ?
(1 Irrational Number

(2) Rational Number

(3) Both (1) and (2)

(4) None of these

If'p™ is an even integer, then'p' is an:
(1 oddinteger (2) eveninteger
(3) multiple of 3 (4) none of these

The number of quadratic polynomials having -2
and -5 as their two zeroes is

(1) none (2) one

(3) two (4) infinite

If the zeroes of the quadratic polynomial ax? + bx
+ ¢, c=0are equal, then

(1 'c'and'a' have opposite signs

(2) 'c'and 'b" have opposite signs

(3) 'c'and 'a" have the same sign

(4) 'c'and 'b" have the same sign

If the first, second and last term of an A.P are a,b
and 2arespectively, then what will be its sum

(1) 1 (2) 0

(3) 2ab/(x+b) 4) 3ab/2(b-a)

The sum of deviations of all the observations
fromtheirmeanis.........

(M always negative

(2) always positive
(3) 0

(4) non-zero number

The Probability of occurance of a Particular
eventin percentage can never be.....

(M less than 100

(2) lessthan0

(3) greaterthan 1

(4) anything butawhole number
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51.

52.

53.

54.

55.

56.

57.

58.

ST sind +sin*6=1, 37 cos’0 + cos’0 ot J=ar |
(D) 2 (2) 4
(3) 0 4) 1

V1+sin0 +—\/ -sin0 |7

Axg 0= 60 I3t

H® €t J=ar
(1) cot6/2 (2) sec0/2
(3) sin 0/2 4) cos 0/2

Aag &g 3% = ni9y fon™A 100% =ur

fe'sT A2 37 IS T urfeEss fds ySitms =u
Arar?

(1) 200% 2 500%

(3  700% (4)  800%

fe'g =gt v qups fAsss e M9 © 9
farerneu fenmr 0.25 Fat. I3 A fae
mMag Jifent ¥ fafant § fHesr & gfenr

Ifen T mme"h&a‘rsﬂzﬂ'rﬂ T
SUR® v 3% ASE! U39 o JRar

(1) 344Fat? (2 27475 ?ﬁ.)—f‘r.z
3) 0.98125 A" HT.> (4) 0.785 At
SR T XT T U3ISB USTII 1 fX 6 AH 37T
TS TIT T nivd fe e i3 famrm T

(1) 36m A.Ht.? ) 187 AHt.?
3) 12 FHT? 4) O M

9 TY-T o fadhust ¥ A2 <&t Hfaar 20.5

I AT AT I T 4 fosdust § 2 Tur fe'sT

AT 3t 52 BT o wifaer ot I3a?
(1) 2T T AT

) 2 T ST AT

3) WiA® Hfosr 3° Tarat J=4it |
(4) ufgst @@t It gt |

Aftmret T fe'x Aye oo nix 4 S5 =,
nig 5 € =79, »idk 6 & o9, ma'sww
3 nix 10 A3 I9 »@er I, feast

Aft=f e S UST XS |
(1) 10 2 7
3 75 4 8

52 Ufanit &t 3 feo" fe'a u'sT s fanr
Her I, 3T I fan U3t &% Jar € fo39
U3t I= € AgresT &t g9t ?

(1) 3026 2 313

(3) 2/13 (4) 112

51.

52.

53.

54.

55.

56.

57.

58.

IfsinO +sin’ 0=1, then the value of cos’0 + cos'0 =?
(1) 2 (2) 4
) 0 (4) 1

If 0=60’, then the value of
% \V1+sin0 + %\/1-sin6 is equalto...

(1M cot6/2 (2)
(3) sin6/2 (4)

sec0/2
c0s 0/2

If the radius of a sphere is increased by 100%,
then the volume of the corresponding sphere is

increased by:
(M 200% 2) 500%
(3) 700% 4) 800%

A medicine capsule is in the shape of a cylinder
whose radius is 0.25 cm and made with two
hemispheres struck to each of its end. The length
of entire capsule is 2cm. What is the total surface
area of the capsule?

(1) 3.14cm’ (2)
(3) 0.98125cm’ (4)

2.7475cm’
0.785cm’

Find the area of a circle that is inscribed in a
square of side 6 cm ?

(1) 36mem’ (2) 18mem’

3) 12mem’ (4) 9 cm’

The median of set of 9 different observations is
20.5. If each of the largest 4 observations of the
setis increased by 2, then the median of new set:

(1 isincreased by 2

(2) is decreased by 2

(3) is two times the original median

(4) remains same

The set of numbers consists of three 4's, two 5's
Six 6's, eight 8's and seven 10's. What is the
mode of this collection of numbers.

1 10 2 7
3 75 4 8

One card is drawn from a deck of 52 cards. The
probability of its being ared face card is:

(1) 3/26 (2) 3113
) 2113 (4) 12

12
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59.

60.

61.

62.

63.

64.

65.

Ffterst 10x-3y=16 713 3x.9y= 24 wr e @
JyTigs A fH........ J=atnrt

(1) AUTST

2)  FHEg

() fge few e 3 aedmr

(4) feost feo gt &t

79 p-1, p+3, 3p-1 nix afe3a 3t feg s

3T p ETH &t JAr?
(D) 4 (2) -4
(3) 2 (4) -2

AHS® TauT € San gt fdat ge1 97
(1 0o (2)  nid3
(3)  257H (4)  -25FH

ISt ST fuz &t nresret Jus 2t faos
TIUT T Quar izt AET I

(1) 3B Taus

(2) MEI®% EIUT

(3) AH3BTIUT

4) Budazs AT

It &3 Jart fE9 fam Jar &t 3391 BTt A3
3 Fg Jean?

(1) ST 2) Utesr

(3) gIr (4) BB

IRfts HStew Ae »E famr 3t 8Rg usT
Sfamrr fa 8AE! iy T Fow &t Tx93T =0t
It T v I faftmrt &9 fam fardt <m
T g 97

(1) fooeforer<n

(2) "I fEe

(3)  AJTEd fgHesT

4)  gIfgrdten

It feu® Agae g W I I yfsdu usT
cel

452
202 Yy
A’.—‘W,‘""n.l—ﬂl “—-H
ANV
1252
(1) 18 Q (2) 40
(3) 50 (4) 10Q

59.

60.

61.

62.

63.

64.

65.

The graphs of equations 10x-3y=16 and 3x-9y=%
are two lines, which are..........

(1 Coincident

(2) Parallel

(3) Intersecting exactly at one point

(4) None of These

Ifp-1, p+3, 3p-1arein AP, thenvalue of pis?

2 -4

(1) 4
2 4 -2

)

Whatis the focal length of plane mirror?
(1 0 (2) Infinite
(3) 25cm (4) -25¢cm

Which type of mirror is used in vehicles as arear
view mirror?

(1) Convex Mirror

(2) Concave Mirror

(3) Plane Mirror

(4) AboveAll

Which of the following colour has maximum
wavelength?

(1) Blue 2) Yellow

(3) Green (4) Red

Gurpreet went for a medical check-up and found
that the curvature of his eye lens is increasing.
Which defects is he likely to suffer from?

(1) Myopia

(2) Cataract

(3) Presbyopia

(4) Hypermetropia

In the following circuit what will be the effective
resistance?

452
252 et
—AANN .»—-
A B
WA
1252
1) 18Q 2 40
@) 50 @ 100
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66.

67.

68

69.

70.

71.

72.

73.

74.

WIS AJXS AN Adae &9 faasst aar e
H'S

(1) Weded

(2) <udAeyd

3) e s Ifder I

(4) BudxzFI

uEt T faasst niuwes 296 XES »i3
WSS I YUz IAT T »irfEss T nigus &t
JerId?

(D) 1:2 (2) 2:1
(3) 1:1 4) 1:8
CaOCl, 8" ATUTgE sTH st 72

(1) frumy

(2)  THAfeIAST

(3) SEIRS

(4) JUI U= BT HIT

pH Ta &t 37 fXat It 32

(1)  0-10 2 1-7

(3)  0-14 4 1-10

et 81 €U fom o3 &t uss sz et 92
(1)  frA®=g (2) uSeteH

(3) IFUI (4) =

J5 fesfint &5 faodt o3 AT I =4
fafanmfis 32

(1) fA®=g (2) USTHIHH

(3)  HISTHMMH (4) A=

fég @ 9n feo fxoz Ima dur 3?2

(1) frefaa 3w (2) oTdefad 39T
(3) EEsfea39y (4) SAfex 39"

HoHl A yTHt T faaz wiar &g AT =
Cracruar o b

(1)  Ueuder (2) giE®
(3) BB (4)  gast

faa3 »g Aest fS9 hiosfas Hge dev 3?
(1) ACE II3T

(2) UBSHTH
(3) BB IAIE
(4) BHIAT

66.

67.

68.

69.

70.

71.

72.

73.

74.

During short circuiting the value of current
(1) Decreases

(2) Increases
(3) Remain Same
4) All of these

During electrolysis of water what is the ratio (by
volume) of gases produced at cathode and
anode?

(1) 1:2 (2) 2:1

(3) 1:1 (4) 1:8

What is the common name of CaOClI, ?
(1 Gypsum

(2) Caustic Soda
(3) Bleaching Powder
(4) Washing soda

What is the range of pH scale?
(1) 0-10 (2) 1-7
(3) 0-14 (4) 1-10

In galvanization, which metal is electroplated on
Iron to prevent rusting?

(1 Silver (2) Platinum

(3) Copper (4) Zinc

Out of the following which metal is most
reactive?
(1 Silver (2) Potassium

(3) Magnesium (4) zinc

Which acid is presentin lemon juice?
(1 CitricAcid (2) TartaricAcid
(3) EthanoicAcid  (4) LacticAcid

In which part of respiratory system exchange of
gases occurs?

(1 Diaphragm (2)
(3) Alveoli (4)

Bronchiole
Bronchi

Hemoglobin is present in which type of blood
cell?
) White Blood Cell (WBC)

(2) Platelets
3) Red Blood Cell (RBC)
4) Lymph

14
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75.

76.

77.

78.

79.

80.

81.

82.

dfentt g Ut = ufs=fos fam feg oo 75.

JerI?

(1) THIEH
(2) TfesH
3) 73

4) feostfeT et ot

T fs@est e fRearadftaig ... foar  76.
HETJI

(1) EEERSIrE (2) ATETOURA

(3) VA (4)  AECUSEH

SgE g HT ¥ HIt9 nied ume fae fHser 37
(1)  <HGs feQaardt

(2) A D .a_'j_-

(3) M Eoft IEoft gt

(4)  vizdm I

Hadt &9 qfeht enrrar far 9r = fore
SsTHETI?

(1) PIHTESH

(2) fErds

3) TESIAHIS 3T

(4) ufAs

fAfex yfafonr=t 397« Ao T 03 g &

e T urfege o ufaesss ger 37
(1) AT eUSHH

(2) IS FrfEnet

(3)  HEEI s3I

(4)  SEHRM

Iae fe's gme T gu &9 faost am ©=
gu g Quuiar g=t 97

(1)  »rIds

(2)  JEE9Hs

(3) =Eteds

<

(4) IIS STEITIATETS

A T8 nigeT fsoH ot ¥ AeT 37
(1) e gt faAst urgT &t femr
(2) e It fgAs! urgT & v T
3) UeT JE gyl ¥39 ot femr

(4)  UeTIT IUo B3I T I

H, fe5 foBost 3 fedagst &t =g
far=st g<t 9:

(1 0,0 (2) 0,1

3) 1,2 4) 2,3

7.

78.

79.

80.

81.

82

15

Which tissue in plants is responsible for
transportation of water?

(1 Phloem

(2) Xylem

(3) Root

(4) None of the above

The gap between two neuronsis called ..............
(1 Dendrite (2) Synapse
(3) Axon (4) Cytoplasm

How foetus gets nutrition in mother's womb?

(1 Through Fallopian Tubes
(2) Through placenta
(3) Through bones of Mother
(4) Through Ovaries

Which of the following is a secretion of salivary

glands?

(1M Amylase

(2) Insulin

(3) HydrochloricAcid
(4) Pepsin

During life processes, in which part of cell,
conversion of glucose into pyruvate takes
place?

(N Cytoplasm (2)
(3) Mitochondria (4)

GolgiBodies
Lysosome

Which gasis used in liquid form as ain the rocket ?
(1 Argon

(2) Hydrogen

(3) Nitrogen

(4) Carbon dioxide

What does the Right - Hand Thumb rule give ?
(1) Thedirection of the generated electric current
(2) The amount of electric current generated

(3) Thedirection of the generated magnetic field
(4) The size of the magnetic field generated .

The number of neutrons and electrons presentin
the species H', respectively:

(1) 0,0 (2) 0,1

(3) 1,2 (4) 2,3
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83.

84.

85.

86.

87.

88.

*cl,, , ’Cl,, , M= “Ar,, , “Ca,, gH<g Tga=t
I5:

(1) AHIT I W3 AHAET &R Ehit

(2) AHAETTSR W3 AN

(3) AHMAI ™3 AHSTO Tt

(4) AHATET 6 W3 AHST IS Sht

AT IGET I ?

(1) 3I3JTe > WIIAE  — &3 AT
— A ISt

(2) A% g8 — 33JTe > NTAE —
&=t far

(3) 339 > A% I8 - NIAS —>
&3t frar

(4) &3t fAgT - niaAs —» A% g3t >
EECRSIEE

Hg ot HeT fe's faoa fugBeat aois »nis
SsATAs  AeIB IITT T ?

(1) LH (2) FSH

(3) TUIGHS (4) EFEITIAS

Q80, Q30, Q50 § ®»I-¥0d AIxC fe g
Afsor farr 3, S ySiSoat = 35

yIeu usTIg?
(1) 1200 (2)  140Q
(3)  160Q 4)  170Q

feaPrast =B € s Bon Ut feo sy
fa*zT famrr T, ferat Aast &9 ot geosmr
AT ?

(1) T A=t

(2)  J=ufgedss adt

(3)  wew=dt

(4) &S Jd1 BT U M3 BB I HET
Wt I

Ax9 T9st, dE9HT § 10N ¥ JgsT
MIAIAE 5 &S M9 a9t I 3t
XA ?

(1)  10°N3we

(2) 10N
(3) 10°N 3 =T
(4) 107N

83.

84.

85.

86.

87.

88.

*cl,, ”Cl,, , and “Ar, , “Ca,, are respectively
example of:

1) isobars and isotopes
2) isotopes and isomers
3) isomers and isobars

4) isotopes and isobars

How does electrical impulse travel in a neuron?

(1) Deadrite — Exon — Nerve end — Cell
body

(2) CellBody — Deadrite — Exon — Vascular
End

(3) Deadrite — Cell Body — Exon — Vascular
End

(4) Vascular End — Exon — Cell Body —
Deadrite

Which pituitary hormone regulates egg
secretion in human female?

(1) LH 2) FSH

(3) Growth Hormone (4) Thyroxine

080, 250, Q30 resistors are connected in series,
what will be the resultant resistance?

(1) 1200 (2) 140 Q2

(3) 160 Q2 (4) 170Q

A convex lens of power P is immersed in water .
How willit's power change?

(1) Increases

(2) Remains same

(3) Decreases

(4) Increases for red colour and decreases for
blue colour

The Earth attracts the moon with a gravitational
force of 10” N. Then at what gravitational force
moon will attracts the earth ?

(1) Lessthan 10°N

2)  10°N
(3) Greaterthan 10°N
4  10*N

16
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89.

90.

91.

92.

93.

94.

95.

96.

Ao s J:

(1) M&ITS feg 30%-40% WiAtfex wifAs et
(2) PBAIS f&F 5%-8% miFtfex wifAs =
(3) UTEt f€°g 5%-8% wiFlfex nifrs =7

(4) Ut f2'9 15%-20% wiAtfe mifAs et

% = IA feu faas wisaraty a4t e 2

(1)  »HEBA (2) ®EUR

3)  ufAs 4) feufrs

yt dars A »i9g AWe f9 8T STt
(1) VerEdIgdee  (2) e ASIH

3) B (4) nigtEteTes

disT, 3% dw, IuTg, UySHS, I3, €5 w3
3ug nife far famn &t erst &t =t e
T I3 |

(1) HeeRs (2) YT SAS

(3) SUTGISHS  (4) YHI SHSH

I fofimrt f278° 3793 ¥ Ut 3w feg faoFt
g3 &t get?

(1) JraHt (2) wIEr

(3) TIur (4) gA3
Setifax gt v AoH T3 faozT 2w 32
(1) gI3 (2) It

(3) AU 4) ez

Tuz-Uat HeHs dt AT ufodt ge § Ut

3T ‘S ggS HoT9 ToUT AIEmiT I5 3T fER §
&t fxar AT 32
(1) TH-IAHT (2) wigtgtTEs

(3) HGHETTECT (4) &

A3 on @9 fHos o gsAust e 40% foRT
feort st w7 3, fegst § St afde a57?

(1) FESK I6AUST

(2) FI® N3 UHE-Creyst

(3) dars <t efons

(4) SaaTaT

17

89.

90.

91.

92.

93.

94,

95.

96.

Vinegaris asolution of :

1) 30%-40% acetic acid in alcohol
2) 5%-8% acetic acid in alcohol

3) 5%-8% acetic acid in water

4) 15%-20% acetic acid in water

o~~~

Which enzyme is not present in pancreatic juice?
) amylase (2) lipase
(3) Pepsin (4) Trypsin

What is the dry season caused by tropical cyclones
in the Bay of Bengal or the Arabian Sea called?

(1) Monsoonbreak (2) Jetstream

(3) Loo (4) Mango showers

Which category of crops do the sugarcane, oil
seeds, cotton, jute, rubber, wool and tobacco

belongto?

(1) Zaid crops

(2) Food Crops

(3) Commercial Crops
(4) Dry crops

Which of the following seasons does not happen in
South India?

(1 Summer 2)
(3) Rainy (4)

Winter
Spring

Which country is known as the 'Father of the
Industrial Revolution'?

(1) India 2)
(3) Japan (4)

America
England

When the South-West monsoon winds bring heavy
rain to the West Coast on the first of June, What do
we callit?

(1) Kal-Baisakhi

2) Mango showers
(3) Burst of Monsoon
(4) Loo

Over 40% of the vegetation found in our country is
of the foreign species, what are they called?

(1 Local Vegetation

2) Boreal or Paleo-Tropical

(3) Terror of Bengal

(4) Lentana
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97.

98.

99.

100.

101.

102.

gStaEt 839 3 W ¥ B9z O-f3oret HeEget 97
& gHar9 fuwer I fer ¥39 3° e IHeI!
niHEs v fas yFitms ffArm yus ger 9?

(1) 25% (2) 19.9%

(3) 30% (4) 28%

wTEHTEl 3 giE A%t ytT 8Ewart ur 9.
THcHIIS &I fa3T famr, fer v g st A

(1) fer T 3379 iH3 96 BT

(2) ni3ITHeS Tud TuE BeT

(3) HAEd § nifznrerat 3 g9 BEt

(4) JASBHBE IHEE BT

THSI niHEs A T T »iH foermint €t 99.

...................... T HES IS T |

(1) 6Hd& (2) feandtsr

(3) feafestrs 4) TAS

YTHTES TUET BB eeeeeneenceecnnnns T T < 100.
ASaTdet O

(1) drotet (2) HAEt

(3) 3 (4) Gugar

ToHG 3 35 gz mts 91 8r mis Qus 101.

79 fania3t =t &1 578 831 99 AaE 95
US I@HS T ufgeTg ¥ »nis Hag fer mits
Bus ¥t 9 II I5 19" AA3T E9 fen
Afast § &t afde a5

(1) At ggmardt (2) Ut It Sgdardt

(3) fegxggddardt (4) A&t SIHIT

SusarsT Tt 37 &t AZEST F9 ......... 102
AfHS gev 3?

(1) =Agnr

(2) A=

(3) =AIN NP AR
(4) fegat feg et 5t

18

About two-thirds of the country's workers are
employed in the agricultural sector. What
percentage of the total National Income is
generated from this sector?
M 25% 2)
3) 30% 4)

19.9%
28%

After independence, the Coal mining industry
was nationalized. What was the reason?
1 Tolimitits stock.

(2) Toincrease international trade
(3) To avoid exploitation of the workers
(4) Only to make profit

National Income is the Income earned by the
normalresidents of a country during .................
Q) 6 months

(2) Onemonth
(3) One financial year
(4) 2years

With the rise in income , there is a possibility of
increasein.........cc.........

(1) Poverty ()
(3 Profit 4)

Wages
Consumption

Gulshan has owned three acres of land. Four
members can work efficiently on this land but
eight members of Gulshan's family are
cultivating the existing land. What name is given
to such type of situation in economics?

(1 Seasonal unemployment

)
(2) Disguised unemployment
(3) Voluntary unemployment
(4) Technical unemployment
A consumer needs.........ccoovvriirirnnnnnnnn for the
satisfaction of his wants.
(1) Goods
2) Services
(3) Goods and Services
4) None of above
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103.

104.

105.

106.

107.

108.

109.

793 AT »H 39 ‘3 79 AS X935 HIS
YU g7 B AT ‘T UA X9 &

(1) w&=dt (2) gJ=at

(3) ©HEd (4) g5

2T Cetial faR enaT o AT I5 |
(1) AIXI (2) ufgeg e Nag
(3) HAEdt  (4) feost &9 JEt &t

18t Aeat faG@ariar 3 UAmg § o s fosr
At

(1) Aot
(3) FIHSTS

(2) dag
(4) AIJEr I

HT9H ISAIS fiw T 97 AR Jamg &t yast
Je faast At |

(1) =forassa (2) =fonrfAg

(3) wfgnmufarg (4) wforr o

1911 &: fI9 for rigen sferse & 56t &
393 € gHUS T X UAg § fU 9 fesT
(1) I8 IIds

(2) I3 TI5 JAfEIH

(3) IS IHIH

(4) ®I3IIfEa

ASH T0" &€ ARSI 3 faa3 mHH &
AEYST SA1ST |

(1) o A=

(2) gIH AN

(3) HE AN

(4) SURAHH

St @ T A” 3° YfHg Tero = At
(1) dfoses ut st
(2) fAxegsat
(3) feggrdty adt
(4) T3yt Ut

103.

104.

105.

106.

107.

108.

109.

In which month of the year does Indian
government generally present its budget in Lok
Sabha?

) January (2) February

(3) December (4) June

Who run Cottage industries?
(1) Government

(2) Members of family

(3) Labour

(4) None of these

What name was given to Punjab by Chinese
traveller Hieun Tsang?

(1) Tsekia (2)
(3) BrahamVarata (4)

Punjab
Border state

Which was the eastern boundary of Punjab
during Maharaja Ranijit Singh's period?

(1) River Satluj (2) RiverIndus

(3) RiverGhaggar  (4) River Beas

In 1911 AD, which British Viceroy separated Delhi
from Punjab and made it the capital of India?
(1) Lord Curzon

(2) Lord Warren Hastings
(3) Lord Dalhousie
(4) Lord Harding

Which samaj was founded by Swami Dayanand
Saraswati?
(1) Arya Samaj

(2) Brahmo Samaj
(3) Jain Samaj
(4) Bodh Samaj

Who was the most famous sultan of Lodhi

Dynasty?

(1) Behlol Khan Lodhi
(2) Sikandar Lodhi

(3) Ibrahim Lodhi

4) DaulatKhan Lodhi

www.meritoriousXsuccessadda.in




110.

111.

112.

113.

114.

115.

eI YISt T AGH T8 AIs fHw seT
nERTE I5 e i3 g Ifenr |

(1) 1914 €. aus 9

(2) 1913 €. Aeed AR f&g

(3) 1915 . a7 i

(4) 1916 Et. AIHaT ffT

niagw =ut ¥ gu &9 393 K9 e As
3 JSI-IH AT 93 I JTFET I fHnr|
Ut ¥ gu & wisow faodt Sinst s
FIINE AS |

() 1700’9 (2)
(3) 16008  (4)

1800 &t. g
1500 t. &g

fapom

(1) WIs fRw 3aaT
(2) AITT I3 W
(3) g fonrs

(4) Ao A

FTI3 T AISUS qT ST 19T Jfen ?
(1) 9 THII 1946 =t

(2) 93<IJ 1946 =T

(3) 26 A& 1946 =t

(4) 9THII 1947 =t

(1) fozafSanerg (2) HyH3It
(3) it (4) IHCIUS

feurs AT =7 H'ET g5 et 8He fagt grdist
T

(1) 187
(3) 30A®

(2) 25H°®
(4) 3578

110.

111.

112.

113.

114,

115.

When and where was Gadhar party formed under

the leadership of Sohan Singh Bhakna?

O] 1914 ADin Japan

2) 1913AD in San Francisco

3) 1915AD in Canada
)

(
(
(4 1916 AD in Germany

The Britishers entered India as traders and
gradually captured the whole India. When did the
Britishers as traders came to India?

(1) In1700AD (2) In1800AD

(3) In1600AD (4) In1500AD

Who wrote the song 'Pagri sambhaal jatta'?
(1) Sohan Singh Bhakna

(2) Sardar Bhagat Singh
(3) Banke Dayal
(4) S.Ajitsingh

When was the process of the formation of the
Indian Constitution initiated?
1 9 December 1946

(2) 9 November 1946
(3) 26 January 1946
(4) 9 December 1947

The whom are nomination Papers presented?
1 Returning Officer

(2) Chief Minister
(3) Speaker
(4) President

What age is required to become the member of
Legislative Assembly?

(1) 18 years (2)
(3) 30years (4)

25years
35years
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116.

117.

118.

119.

120.

IStE »i3 BiES 3 § Ane! font g=v8= &t 116.

H mEsst Jfer AShrt aretert g5, § &t
e IS |

(1) FAHAGS9

(2) IMGHIIIe

(3) TEEde

(4) BINTHI

“BFXI39, BT T, BAT BEI VI FAT THTIT 17.

ARG der g, feoxEs farer I
(1) fes

(2) feggrdiH f&as

(3) NMIAg

(4) HU'B’;FETU:T

AET YTUS »udTt € AT 3 Hoi'e & AaeT 118.

=N

o)
() yors {3t
(2) THUS

(3) THIUIT

(4) Bu-IHeIUSt

I O A 3 ISt niws3 faot g€t T 119.

(1) g nes3
(2) TEIIe

(3) IBINTHI
(4) BFUSHTIS

SI AT S A S Su g far I a3 I5| 120.

(1) faga
(2) AT
(3) Uag
(4) €3IyeR

What are the courts known as that have been set
up for speedy justice to the poor and exploited ?

(1) Session Courts
(2) Consumer Courts
(3) High Courts

(4) LokAdalats

"Democracy is a government of the people, for
the people and by the people”. Who said these
words?

(1) Lenin

(2) Abraham Lincoln

(3) Aristotle

(4) Mahatma Gandhi

Who canforgive the convicted criminal?
(1) Prime Minister

2
3
4

(2) Governor
(3) President
4)

Vice-President

Whichiis the highest court of the state ?
(1) District Court

(2) High Court
(3) LokAdalat
(4) Supreme Court

Which state has the highest number of members
inthe Lok Sabha?

(1) Bihar

(2) Gujarat

(3) Punjab

(4) Uttar Pradesh

www.meritorioudlsuccessadda.in




fooem: It fesr Ugr ug a yrs &: 121-130 yAsT 2 €739 fe6:
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Directions: Read the passage given below and answer the questions that follow:

Our ancestors preferred to live in joint families. But nowadays, culture is changing and due to their

works/jobs/sources people are preferring nuclear families. Each type of family has its boon or bane. In joint family

nurturing of children is easy, because normally grandparents nurture and carry children with themselves. In nuclear

families nurturing/bringing up of children is a big issue. Almost all parents do jobs in institution/agencies etc. that's why

they do not have enough time. It creates problem in bringing up of children. Along with this major problem, it is also the

biggest cause behind other problems. Without family members around, a child spends majority of the time outside the

house. He develops bad habits in him such as overnight parties; excessive extravagance, splurging pocket money; no

time for studies and family etc. These are the common problems of all nuclear families. So, good environment and good

family are the basic needs of growing children. It develops good habits and good manners in children.

131.

132.

133.

134.

135.

Which type of family is discussed in the
paragraph?

(1 Jointfamily

(2) Nuclear family

(3) Familyin general

(4) Both jointand nuclear families

What do you understand by the idiom "a boon or
abane'?

(1) Both good and bad

(2) Something that s neither good nor bad

(3) Something thatis either good or bad

(4) Something that s better than nothing

In contemporary time which type of family is
preferred by people?

) Joint family

(2) Childless family

(3) Extended family

4) Nuclear family

In what kind of activities do the children of
nuclear families indulge themselves?

(1) extravagance

(2) splurging pocket money
(3) overnight parties
(4) allofthese

What is the meaning of the word 'nurture'?
(1) upbringing

(2) qualities
3) environment
(4) grandparents

136.

137.

138.

139.

140.

Fillin the blank with suitable Gerund:

is good for health.
(1M Laughing (2) Tolaugh
(3) Laugh (4) Laughed

Who has called you?(Choose the correct
passive voice)

(1 By whom have you been called?
(2) By whom has you been called?
(3) By whom are you been called?
(4) By whom were you been called?

A list of issues to be discussed at a meeting.
(Choose one word for the sentence)

(1) agenda 2) calendar

(3) schedule (4) plan

Gurman is an apple of her mother's eye. In this
sentence 'an apple of her mother's eye' means
(1 Fake thing

(2) Invaluable thing

(3) Valuable thing

(4) None of the above

Punctuate the following sentence:

(1 Looking straight at him he said, 'l cant help
you'.

(2) looking straight at him he said, | can't help
you.

3) Looking straight at him, he said,"l can't help
you".

4) Looking straight at him, he said, | can't help
you.

.. 23 .
www.meritorious.successadda.in




141.

142.

143.

144.

145.

146.

@Ra s &1 udl afa—fawss
fadea Far 22

(1) g (2)
(@) I (4)

I
AT

‘IRT Trsg 1 W@ yAtgard fQweu
g |

(1)  ora @ &

(B) e (4)  <fera
A’ 2eq BT ! fadH faded g+ |
(1) o= (2) o=

@) TS @)  fa=m
fr=ifarRaa faweul ¥ 4 gg Tt g+ |
(1) U far off STpaR T gU & |

2) S fOar SR & |

(3) S fOaT St STh¥R Y T &

(4) ST T ST STHAR & B |

991 A9 & B HIA qTAT D ISl

@ I R Ud o] g |
(1) rddfra 2)
() TSI (4)

ERECGIR
RCRE]]

frrafafera gk &1 wdr sief
g —faeelt g3 B=T—

(1) e BT A BT

(2) BB REAI

@) EIRAEMT

(4)  Teg @r Wit 7 <R B

)

147.

148.

149.

150.

24

frfafaa vermer & yeay fay w1v
Jgddfedd Uel (YT 1. 147—150) &
IR SIfoTg—

SAYE WY Rietrd

Udl ¥R &, SIT &9 U,

I SN BT ART A

ST T JART AR ST |
B33 oTeN Had] TJe—

H g faatie =1 91g |

TR 3 SHT H 98—98

9T M gl oY |

Rl gU el FRTH<A QA © 7

(1) Q[ITAS  (2) FHEA B
@) 9WAdEAd (@) FUIBA DI
U Y wer AT 2?

(1) D@l 2) USSP
B) wA®l (4) a1 Bl
UeieT § did S & 28 7?

(1) o= @) T

@)  foxor 4)  Tel
el Bl fod U= &) e 27

(1) oI @ =@
B) fHFIR DT @) SHTS
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